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BAREM DE  CORECTARE NOTARE 

 Problema 1.  

Soluţie.  a)       
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              b) 
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          1 2 k    ............................................................................1p. 

         EF AC ................................................................................1p. 
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Problema 2.  

Soluţie.Notaţia  3u x y z    și  
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           33 1 6 11u u      ...............................................................................................1p 

            23 1 6 2 3 0u u u        ................................................................................2p 

         Finalizare.................................................................................................................2p 

  

 

 

 

 

 
 



Problema 3  

         

Soluţie.  Exemple  2 3 4 52 3 1,2 3 5,2 3 13,2 3 29          ...........................1p 

  

Considerăm  1 2 3 ... kL a a a a       .........................................................................1p 

           2 2 2 2 1r s s r sL p        ......................................................................1p. 

         2 1r sL q    .................................................................................................1p 

           24 1 4 2 1 1 2 3r s r sL q               poate fi ales drept 1ka   ...............2p 

        Finalizare .........................................................................................................1p 

          

             

 

 

 

    

 

  

        

 

 


